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DIRECTIONS: 
A is sister of B. 
E is brother of B. 
E is son of H. 
H is married to F. 
F is daughter of G. 
F has only one daughter. 
G is married to C. 
E is brother of D. 
D is married to I. 
 
1) How is I related to A ? 
a) Mother  b) Sister 
c) Sister-in-law   d) Daughter-in-law 
e) None of these 
 
2) If M is brother of C then how is G related to M ? 
a) Uncle 
b) Cousin 
c) Can‘t be determined  
d) Brother 
e) None of these 
 
3) If R is daughter of I then how B is related to R ? 
a) Brother   
b) Uncle  
c) Can‘t be determined 
d) Father 
e) None of these 
 
4) I. F is the brother of A, II. C is the daughter of A, III. D 
is the sister of F, IV. G is the brother of C. Then who is 
the uncle of G? 
a) A   b) C 
c) F     d) K 
 
5) D said, “A’s father is the only brother of my sister’ 
son.” How is A’s father related to D? 
a) Aunt   b) Nephew  
c) Cousin  d) Data inadequate 
e) None of these 
 

6) Neelam, who is Deepak's daughter, says to Deepika, 
"Your mother Rekha is the younger sister of my father 
who is the third child of Ramlal." How is Ramlal related 
to Deepika ? 
a) Uncle  b) Father-in-Law 
c) Grandfather     d) Father 
 
7) A and B are brothers. C and D are sisters. A’s son is 
D’s brother. How is B related to C? 
a) Father  b) Son 
c) Uncle   d) Brother 
 
8)  Q is the brother of R; P is the  sister of Q. T is the 
brother  of  S;  S  is  the  daughter  of  R.  who  are  the 
nephew/niece of Q? 
a) R and P  b) P and T 
c) Q and T  d) S and T  
 
9) F is the brother of A. C is the daughter of A. K is the 
sister of F, G is the brother of C. Who is the uncle of G? 
a) A   b) F  
c) K   d) C 
 
10) P’s father is Q’s son. M is the paternal uncle of P 
and N is the brother of Q. How is N related to M? 
a) Cousin  b) Nephew  
c) Brother  d) Data inadequate 
e) None of these 
 
11) M is the brother of K. T is the sister of K. R is the 
father of M. J is the wife of R. How many sons does J 
have? 
a) 4  b) 1  c) 2   
d) Data inadequate   e) None of these 
 
12) If X is the brother of the son of Y’s son, how is X 
related to Y? 
a) Son   b) Brother 
c) Cousin  d) Grandson  
 
13) A is B’s brother, C is A’s mother, D is C’s father, E is 
B’s son. How is D related to A ? 
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a) Son   b) Great Grandfather 
c) Grandfather    d) Grandson 
 
14) A is B's son C's father is F. F is D's son and B is D's 
daughter. How is A related to F ? 
a) Nephew   b) Niece 
c) Cousin  d) Son-in-law 
 
15) A is father of B and C. B is the son of A. But C is not 
the son of A. How is C related to A ? 
a) Niece  b) Grandson 
c) Daughter   d) Son-in-law 
 
16) A and B are brother and sister respectively. C is A’s 
father,  D  is  C’s  sister  and  E  is  D’s  mother.  How  is  B 
related to E ? 
a) Grand-daughter  b) Daughter 
c) Aunt    d) Great-grand-daughter 
 
17) A, B are married couple. X and Y are brothers. X is 
the brother of A. how is Y related to B? 
a) Brother-in-law   b) Brother 
c) Cousin   d) Niece 
 
18) P, Q, R, S, T, U are 6 members of a family in which 
there are two married couples. T, a teacher is married 
to a doctor who is mother of R and U. Q, the lawyer is 
married to P - P has one son and one grandson. Of the 
two married ladies one is a house wife.  There is also 
one  student  and  one  male  engineer  in  the  family. 
Which of the following is true about the grand-
daughter of the family ? 
a) She is a lawyer b) She is a doctor 
c) She is a student  d) She is an engineer 
 
19) A, B and C are sisters. D is the brother of E and E is 
the daughter of B. How is A related to D? 
a) Niece  b) cousin 
c) Sister   d) Aunt  
e) None of these 
 

20) M is the sister of D. R is the brother of D. N is father 
of M and T is the mother R. How is D related to T? 
a) Daughter  b) Son 
c) Brother  d) Data inadequate  
e) None of these 
 
DIRECTIONS: 
A has two sons. 
E is the daughter of G and B is the mother of C. 
F, the brother of E is the son of C who is the son of A. 
A is grandfather of J who is not a sibling of E. 
B has a child named D. 
 
21) What is the relationship between D and J? 
a) D is uncle of J   
b) D is father of J 
c) Cannot be determined  
d) J is son of D 
e) None of these 
 
22) What is the ratio of males to females in the family? 
a) 1 : 3  b) 1 : 1   c) 3 : 5 
d) 5 : 3   e) Cannot be determined  
 
23) C is wife of B, E is the son of C, A is the brother of B 
and father of D. What is the relationship of E to D ? 
a) Mother  b) Cousin  
c) Brother  d) Sister 
 
24) A and B are brothers. E is thedaugther of F. F is the 
wife of B. What is the relation of E to A ? 
a) sister   b) sister-in-law 
c) niece    d) daughter 
 
25) A’s mother is sister of B and she has a daughter C 
who is 21 years old. How is B related to C? 
a) Uncle  b) Daughter 
c) Niece   d) Maternal Uncle  
 
26) A is the paternal uncle of B, who is the daughter of 
C and C is the daughter-in-law of P. How is A related to 
P? 
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a) Brother  b) Son  
c) Son-in-law  d) Data inadequate 
 
27) ‘A’ is the sister of ‘B’. ‘B’ is married to ‘D’. ‘B’ and 
‘D’ have a daughter ‘G’. How is ‘G’ related to ‘A’ ? 
a) Sister  b) Cousin 
c) Niece   d) Daughter 
 
28) A is B’s bother, C is A’s mother, D is C’s father, E is 
B’s son, How is B related to D? 
a) Son   b) Great grandfather 
c) Grandfather  d) Granddaughter  
 
29) A is father of X, B is mother of Y. the sister of X and 
Z  is  Y.  which  of  the  following  statement  is  definitely 
true 
a) Y is the son of A  
b) X is the sister of Z 
c) B is the mother of Z 
d) B has one daughter 
e) B is the wife of A  
 
30) A is B’s wife’s husband’s brother. C and D are sisters 
of B. How is A related to C ? 
a) Brother   b) Sister 
c) Wife    d) Sister-in-law 
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